
190
7.48

200
7.87

30 1.
18

52
5

20
.6

7

66
8.

3
26

.3
1

294
11.5740

1.57
40

1.57
90

3.54

53
5

21
.0

6

55
5

21
.8

5

DETAIL A

DETAIL B

DETAIL C

10
0.39

12 0.
47

23 0.
91

16
0.63

DETAIL A (1 : 1)

8
0.

31

10
0.39

DETAIL B (1 : 1)

DETAIL C (1 : 1)

Cable clamp PUK 36B

Cable clamp PUK 28B

Cable clamp PUK 40B

Cable clamp PUK 32B



      
      

      

      

 
 
 
 
 
 














  
























A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

 132h5078/004: Frozen :02-Dec-2022



9

8
Torque: 2Nm

4

A

B

A

B

For installation environments described by 
IEC 60721-3-3 3M11 use 4 screws (A)

For installation environments described by 
IEC 60721-3-3 3M12 use 8 screws (A&B)

Included acessories

+ Premounted

Torque: 6Nm

Torque: 1.75Nm

Remove the terminal
cover before connecting

SCALE1:3

DETAIL D

SCALE 1:3

6

7

DETAIL D (2 : 3)

32

Output terminal: 50mm² (max.)
U2,V2,W2
Screw type: M10 Torx 30
Tigthening torque: 14Nm

Input terminal: 50mm² (max.)
U1,V1,W1
Screw type: M10 Torx 30
Tigthening torque: 14Nm

1

Danfoss Sine-wave Filter label

5

Torque: 6Nm

Torque: 2Nm

Torque: 6Nm

Pos. Pcs. Description Type
7 3 Combi screws M6 x 16 T30
8 4 Combi screws M6 x 16 T30
9 4 Combi screws M4 x 12 T20

Pos. Pcs. Description Type
1 1 Decoupling plate  
2 4 Combi screws M6 x 20 T30
3 2 Cable clamp  
4 2 Eye bolt for lifting M8
5 2 Terminal protection cover  
6 2 / 2 Cable clamp PUK 36B / 40B














  
























A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

 132h5078/004: Frozen :02-Dec-2022



>1
00

3.
94

>1
50

5.
91

DETAIL F

DETAIL E

9
0.35

26 1.
02

DETAIL F (3 : 5)

5 0.
2

5 0.
2

26
1.02

DETAIL E (3 : 5)

No space
required




Mounting conditions Label location

No space
required



      
      

      

      













  
























A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

 132h5078/004: Frozen :02-Dec-2022



Packaging label (100x59mm)Product label (78x55.5mm)














  
























A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

 132h5078/004: Frozen :02-Dec-2022


	Blatt 1
	Zeichenansicht26
	Zeichenansicht27
	Zeichenansicht28
	Detailansicht DETAIL A (1 : 1)
	Detailansicht DETAIL B (1 : 1)
	Detailansicht DETAIL C (1 : 1)

	Blatt 2
	Zeichenansicht32
	Zeichenansicht37
	Zeichenansicht38
	Zeichenansicht45
	Detailansicht SCALE1:3 (1 : 3)
	Detailansicht DETAIL D (2 : 3)
	Zeichenansicht48
	Zeichenansicht49
	Zeichenansicht50
	Zeichenansicht51

	Blatt 3
	Zeichenansicht22
	Zeichenansicht24
	Detailansicht DETAIL F (3 : 5)
	Detailansicht DETAIL E (3 : 5)

	Blatt 4

